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Read the following instructions carefully before you begin to answer. the questions.

IMPORTANT INSTRUCTIONS

This Booklet has a cover [ this page ) which should not be oﬁened Till the invigilator gives signal to
open it at the commencement-of the examination. As soon as the signal is received you should tear
the rtght side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions. '

This Question Booklet contains 200 questions.
Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No.. Question Booklet St. No. and other particulars on side 1 of the
Answer Sheet provided, failing which your Answer Sheet will not be evaluated.

You wili also encode your Register Number, Subject Code, Question Booklet Sl. No. etc., with Blue
or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not
encode properly or fail to encode the above information, your Answer Sheet will not be evaluated.

‘Earh question comprises four responses (A}, (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each guestion. Your total marks will depend on the number of correct responses marked by you
In the Answer Sheet.

In the Answer Sheet there are four brackets [ AJ[ B |i C | and | D ) against each guestion. Teo
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. H for any item, (B) is the correct answer, you have to mark as follows :.

(A1l [C1ID]

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take

this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

Failure to con’iply with any of the above instructions will render you liable to such action or penaltly
as the Commission may decide at their discretion.

-~

In all matters and int cases of doubt, the English Version is final.

Do not tick-mark or mark the answer in the Question Booklet,
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1. Osretens’ eemp LD &pseanL ahg ape Qwrflllefimha GupliuLg "
A Qesdan B) dyese
C) dlGrsaip : D) @eubpet agiapliemen.
The term 'Principle’ is derived from which language ?
\46- Latin B) French
C) Greek D) None of these.
2.  Epssaul aursdubsoeand seel : |
gaby (A} &l (Dey @m&aﬁfm eretiug) 2 pllentsefled saps wHnd QuTEenTHTY
BHoaaou CoubulssdHams. |
gnyewid (R) : &l Bney astug belloumLps whssflar warGabpsdlbarear o
fiphs jeoiy.
b QG @Rl Geier @GOG 60 #flwmes mﬂ@meg Cerhs@ :
A) (A vdpid (R @pesmBin #f), Cusid (R} erstrugy (A) eflih@ sflurer elendeid
B) (A} v (R) Gresm®id s, Cuald (R) eredtug (A) ellhe efluret eferdsweien
C) (A) &fl e (R} seumy) .
D) (A seup yerme (R) .
Consider the following statements :

Assertion (A) : Co-operation is a movement which promotes the socio-economic

conditions of its members.

Reason (R} : Co-operation is the best instrument to promote the weaker

sections of the community.
* Now select your answer according to the coding scheme giveﬁ below :
.- A) _ Both (A} and (R} are true and {R) is the correct explénation of (A)
.B]/ Both (4) and (R) are true, but (R} is not the correct explanation of '(A)
C) {A) is true, but (R} is false
D) {A) is false, but (R) is true.
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3. 2 pofest - vwesrell Qemeianseow 2 aarL sdlug g ?
A)  EILODey | B}  Gurgeylenwo
C)  esopsey_emo ' D} sely Gur@eTrsryb.

Member-user identity is an essential characterstic of
J({ Co-operation : B) Communism’

C)] Socialism D) Mixed economy.
4. Spseor ehnseiler sl Hney sesumaura algdlusans o e sdlug 7
L Gl 2_gal
II. swHgeud WHND &§LSTIOD
I, sw Gurmiiy

IV. suwdlearenn.

Geubilé :
A)  Tuwbmbd I sflurersne B) Iwpmbd I eflurareeu
\52{ I, IT iy 111 &flureneney D] IHwbpod IV eflureramal.

Consider the following statements :

Co-operatives are based on the characteristics given below :
I. Self-help
‘II. Equality and equity
HI. Self-responsibility

IV. Inequality.

Of these :
Al { and II are correct : B] II and [1I are correct
21l L Il and IIl are correct D) Il and IV are correct.
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“gwz gall wHon ugduy 2 sall &l Qpalhe weEub” edm sbHemsd saflueur
W 2 ‘
A) @ugrré]rﬂu.:r‘r 1g..£8). &mirGeu B} smitedv @&l
C)  wearaulr Qe eor D) ei UgQOufé Hlésdse.

Who uttered the statement "self-help and mutual help are the essence of
co-operation” ? '

A Prof. D.G. Karve B) Charles Gide
C) Dr. Laidlaw D) Sir Frederick Nicholson.
GELpS HAETId HyhsaD eresrLgeT QU e
A)  floowrer sy aueniéd
B) melbhs wesefldr Gubur@
C) Qgrifiperee Qgrfareriaeia GubLr®
D) spdfluderdlaseie Gubur.
Concern for community means
.M/ , sustainable development of the community
B) development of weaker sections
_C) development of industrial workers
D)  development of political people.
1937 & ICA gpeuré wpdandsiulL Caaaupp Qaraiaasen abHganer 7
A 4 B) 3
C) 2 D) 7.

How many. non-essential principles were reformulated by ICA, 1937
Commission ? )

N 4 & 3

¢y 2 D) 7.

‘ | Turn over
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8. mHHeeen g
A)  syélud, wab, Gerd whnd Gse HHBawen
B} swggeud
Cl gemmpTwusb
D) @eubmeh ergieydlciene.
'Nc;.xtrality' means
\}Kr Neutral to politics, religion, race and naturality
B) Equality
C} Democfacy
D) None ;)f these.
9. &l @pald wédlu Bpeust Hbeb g ?
A) sl EpeysafloGu s ey ﬁ) SETHTILGLD
Q) | FLoGEIeUID D) @eubmsi ergieybléemen.
What is the main enterprise aspect of co-operation ?
\Af _ Co—ﬁperation among co-operatives
B) Democracy
C)  Equality
D} None of these.
10. geéaliomsuras QaTearans aetuge LM el
A)  apgels s mwiblerdl L@Dlﬁlmgrr@gs&
B) SHL_Lmwb
C] ws Caugur®
D) @euppst sTgiabidena.
The principle of voluntarism means
\K{ jbining without being coerced . B) compulsion

C) religious discrimination D) none of these.
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11. Jdyreséles sal GDey Quésagdlar shang aan S@pdsiu L st wrt 2
A)  emieev GEDR B)  emirevsv bl
" Q) Lﬁéﬂj aﬁ]é:sﬁ]mﬂ: EALY) D) Qeuisdr s@areuED.
Who is regarded as father of cooperative movement in France ?
A)  Charles Gide .,B)/ Charles Fourier | '
C)  Dr. William King D)} Al of them. |

12. Ogrueafldlée s Gney @m&&.ﬁs@g‘)@ 27 2 saf Qup édluvrs uflhgersseurt

w2
A)  smirevav yhwt B) Qg
C) smrewdy G&LE D) @eurt s6ft yemevTaUHD.

Who strongly supported the state aid to the cooperative movement in Germany ?
A) ‘Charles Fourier B Raiffelsen
C)  Charles Gide . D}  All of them.
13. @udlarhdled @ullsrave I araailow S rblldset wri 2
A) @\TrutC. gpeuedt B) sarfend QaLE
C) L_l'l'éal._l"l'. efleveflul & D) gearseié aeumbier.
- The Queenswood colony was established in England b}_f
- A( Robéﬁ Owen - B)  Charles Gide

C) Dr. William King _ D}  None of them.

- | Tumn over
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14. ulgue Io ulgue Izt & QuiEsd, &GP Gl&w@l&;&.UUL@snen @lﬁ]tﬁ@&mma
Qanan® sfluren el aws Cahos@ :.

UL iguwe X ‘ uCgwes II
a) é{frg;rrs'\)Gl Quieotiv 1. gl (Hmeumert
b)  emieev doyyflwr 2. @yrut gpereotledr eTeUoTeuoTID WHMID
SUITPHE S
o LreLi efdeun fi 3. I Lér el Goey
d) A;L. GuormirLebr 4. Ll Qariflherene wHmid
BEHGEHN 2. e0sib
GOlpser :
a b c d
M3 4 1 2
B) 2 3 4 1
2 3 4

C) 1
D) 4 1 2 3.

Match List I correctly with List II and select your answer using the codes given

below :

List I | List IT

a) Arnold Bonner 1. Cooperator

b) Charles Fourier 2. Life and Ideals of Robert Owen
¢) Dr. William King 3. British Cooperation
d AL Morton 4. New Industrial and Moral World.
Codes :
a b c d
A 3 a1 2
B) 2 3 4 1
o 1 2 3 4
D) 4 1 2 3.
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S GUSSHT LS G J@EHH B Guerdmamn Qelueg Jermearau_fle
................... orest e pdhdlComb.

A) 2 eni& B) ggnis

C) ' udleument D) @eupdle amapflsvme.
A director who manages an association in phalanstere was called as
.Kr Unarch B) Durach

C) Registrar ' D} None of these.

Purw efleved Carurd el sflpaliu@sdug

A)  arfevsv Qe ‘B)  emtadv coyfluri
O gyerev gflen D) QanCrev Vemel.
The ‘fair price doctrine was introduced by
JK]/ Charles Gide B) Charles Fourier
C) Andes Orne D) Horrace Plunkeit.

uigué Ie ulgue Ieoid Qurpsd. £Cp GarfésiucPaa eilUpsmens
Qeran® sflurar alen_aws Carps® : |
Lif,:lq,mé) I uCqwé I
a) g whsEbsG Hdysel) sefiug 1. smiaen Soig At
b}  ydlu Opmfe 2 eome sEuosse | QuiscorSeesn

c) Qgrflarent Coume Corrsoms GODE S (Ul gpeusst

ol

d &iOpan sdalown aupl@gen grievay QaL.

SPIPser :

a b c d
A) 3 2 4 1
B) 1 - 3 4 2
) 2 1. 3 4

D) 4 3 2 1.

| | [ Turn over
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Match List I correcily with List II and select your answer using the codes given

below :
List I List II
a) To pfovide financial assistance 1. Charles Fourier
to poor people

b} To establish the new industrial world . 2.  Raiffeisen .

c)  To reduce the labour working hours 3.  Robert Owen

d) To provide cooperative education | 4. Chéries Gide.
Codes :

Al 3 2 4 1

B 1 3 4 2
L2 1 3 4
D 4 3 2 L

18. &pbscoL arsdlubsamens seued

snpry (A) D @wruil qeuet eredTueut G guUablSEs sy FtdlmsseuTd).
Qe palcme gl OsmTflaraisassrs oyiiuaiias

ANES 0 (BT

argemid (R} 1 i gepealldr aurpsas Bleoweou wrpd) ydu spsruios
o 2 GAUTS@alg T (poTliLL e GIGHeTT.
ELEN @@Dlﬂﬁ@éﬁ%_@rﬂuﬁr_qéo sflurer alloLomwus Gg;r'r;'r;@gl,@:
A) (A)-&rﬂ e (R) seum)
B) (A seumy gyerén (R} s,
s,

C) (A vhpd (R Graadd &, Cogib (R) srstiug (A) efip® sflurer aletédawees

D) (A vopd (R) @U@ﬁ(afn afl, Cueud (R} erevtug (A) elh@ eflwren elleréaio
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Consider the'f(;]ldwing statements :

Assertion (A} : Robert Owen was a social activist with a wide experience and

therefore dedicated to the cause of the poor labourers.

Reason (R}: He strongly [elt the necessity of changing the conditions of poor

by creating new social order.
Now select your answer according to the coding scheme given below :
A)  (A)is true, but (R} is false

B) {A) is false, but (R} is true.

VC)/ Both (A} and (R) are true, but (R) is not the correct explanation of (A)

D) Both (A) and (R) are true and (R} is the correct explanation of (A).
Gouppiemwlles hpedn sTeTLg TETLOSS @[ﬁ]é,@fn gl Hoalled Syem_wrend
fenanoner @yen® ossaid Geauiys Haasens sblalsset

A)  srrevev QaUE ' B) Lm&Lf mr’r@ﬁaﬁ

C) Cureveu Gamyg D) © umée GevlbuufL.

The logo of cooperatives which denétes unity in diversity was suggested by

J(]/ B Charles Gide B) Dr. Warbasse

C) Moses Coady . D) Paul Lambert.

Gcﬁansu Crrsems Bk Broasg 10 wadfl Cryures Gopse @rderidla epubél
Glgiugeatm wri 7

A) LrsLt alléedlud S B) GDH Garé

C) @rruiL gpeuedt D)  umé Gevburd .

Who proposed the reduction of working hours to ten hours per day in Englagd ?
A)  Dr. Willaim King | B) GDH Cole

‘LJ/ Roﬁert Owen D)}  Paul Lambert.

r@ﬂ [ Turn over
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21.

22,

23.

Lm ety mﬁ,é\m Bl Gmey ki) ............. 20 e Camhmalasiul L g.
A) 1895 . B) 1897
Q) 1893 D} 1896.
The Prussian Central Cooperative Bank was established in the year
A] 1895 - : B) 1897
C) 1893 D} 1896.
LITGELET Snt” (Bmey @mé’&;m =L (U VR BTl igen Aplum@ib.
A) G\gr‘fmsoﬂ : | B} GQLewomté
C)  @ssred ' D) @evGre.
‘Dairy co-opefatives are famous in
A} Germany uB( Denmark
C) Italy | D}  Israel.
gr&GLé B sal . Bpay q;,quﬁ!&a;ﬂun‘_l._ eI
A 1830 Bl 1831
C) 1832 : . D} . 1833.
Rochdale friendly Cooperative Society was formed in
W 1830 | B) 1831

C) 1832 : D) 1833..



24.

25.

26.

13

Qudlarbdle wpeawpaars yrollsslulL. HefGurd sl Gney ehadgleadr CuwT

T8 7
A) grre'r,éu;u B) 2 &alls whnib Ceergmb
C)  gmurl eeuss D) @rufeeficy ereumbleut,

Whi(;h was the name of the first co-operative stores in England ?
A) Rochdale \Bf Woolwick and Chowtham
C) Robert Oweﬁ D) N;)ne of them.
Qi Semredfles gggjenﬁsmg,é; ENER

‘A) sw 2 gl LHmd urevuy 2 gal B)  geprusb
C) gbpeown D) GQurgeyenLesw.
State the Raiffession Philosophy

& Self help and mutual help B) Democracy
C) | Solidarity D) Universality.
Tr&GLd enssdler 3 rbUSTE &]lﬁ!&:&;gﬁ@ﬁﬁﬁ Tggemen QU 7
AN 25 B 26
C) 27 | D) 28.
What was the number of fdunder members of Rochdale Society ?

A) 25 | B) 26

C) 27 VB]/ 28,

[ Turn over
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27.

28.

29.

BevCredle Lustnanem anl Bpeyser Qeubnl QUbDEIGSHTE SETFemD WTg ?
A)  Capdlu 2 amirey B) suhld
C}  ©4Cupngdlart pLougsameser D) @e Semeanssb.

Why are the farming co-operatives successful in Israel ?

A)  National affinity B) Mutual aid

C) | Set-tler activity - \D/ All of these.
Slereumeuseuppier g pr&lLd Qameians e 7

Al Hobs sEesdantaelr | B) geipTwe. sUEOIUTH
Cl  wsefiger g Seneurer el D) swsrusder 85 s&HeD.
Which one is not a Rochdale principle ?

A) Open membership B} Democratic control

C) | Limited interest on capital &1/ Concern for community.
QL. emomit &l LTeausT dol’ Hpeysenen 2 meurddiu HHS wr 2

Al euige LHDID HevoTig L) B)  evigeoelli gy ctorireein

Cl. itser | D) el

Who was the architect of dairy co-operatives in Denmark ?

A)  Still and Cundiff : _ .,B’)/ Stilling Anderson

C)  Peterson D)  Lytton.
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30. ulguwée Io ulgywe Io & Quresdl, £6p Qar@ssiu Gerer GhliGsamens

Qaren( sfurer alleLowug b8 !

U g e I
SesTLT
GlL_ebriomiTé
@@

Qudlerha

4

a)

b)

c)

d
ePdpaer :

- a

A) I

B) 2

< 3

D) 4

3

1

2

2

1.

uCgweo II
1. QLTS LI e HelT
# Lueiry] eret

Gargienw Syl @

Ll

GLelleiy sml HDeysef.

Match List I correctly with List II and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A 1
B] 2

D) 4

Canada

List I

Denmark

Israel

England

List II
1. Collective farms
2. CWs

3. Wheat pools

4, Danish cooperatives.

‘605 " [ Turn over
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31.

32.

33.

ahs G SPEMEUTEIE (WS EHIWSE &al (s sl shshseflar sl LD 1904
GubnIBe)sE SglusL UTs alleThslug ?

Al sf aleuf® e G B) et énleur® Cubeanedt G
C) e, CamteureT @ D) .. HEpayeworsent @aop.

Which committee's report was the base for the enactment of the First Indian

Cooperative Credit Societies Act of 1904 ?
~A]/ Sir Edward Law C“ommittee B)  Sir Edward MacLagan Committee
C). A.D. Gorv;ra.la Committee D)  T.T. Krishnamachary Committee.
éaﬁ.@meq LIt 60 Goot @&mrj)@@afﬂs& é,smsusur‘r Wit 7
A) C.D.H. Gamév | B) E.M. anré
C) B.Qeams levuwr D) digedlisiur
Who was the Chairman of the working group on Co-opefativé farming ?
A) C.D.H. Cole B) E.M. Hough
C) B. Venkatappaiah hB)/' Nijalingappa. |
‘S’ el Glere SGp CEr@ssiu’ Peretmeauneila aomad OIS aDE 2
A)  urd Qurmeller sueotia 2 flemwl GLw
B) umé 2 pusdlureny @msuuiﬁé]a’n QL
C)  doyeuerd @umsdlestn GL b
D) @aﬁma‘:eﬁ 3{66‘)661&@]0)..
The term "AMUL' refers to
A) brand of the milk product
B) | nérne of the milk producers’ organisaﬁon

location of the organisation

J))/ all of these.
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‘elleusmifiser Gaemeu sman Cambpaliushe ufibgior Qels G wrs ?
4A)  Ggdu Geuermedm &P B} Gadlu sl Hmey sridlren
C)  uaeaml® sa Hmey sdCuweraid D} Gadflu snl Hipey speTidHiLb.

Which committee recornmended for the organisation of 'Farmers Services Society’

(FSS)?
J(f National Commission on Agriculture
B)  National Co-operative Congress
C) International Co-operative Aliance
D)  National Co-operative Union.
‘@ Hgmod @G sheh dam GHdrd Ceraalluam paemeag’ aa abs @@‘h[ﬂm@ ?
A) STTWIT (G B) eevig. UeT &
C)  fier ew D) g.g. Gamieurar G-
Which committee stated 'one village one society formula has failed' ?
A)  Saraya Committee B} S.T. Raja Committee
C)  Mirtha Committee “OJ  A.D. Gorwala Committee.
#CYp Qar@sstulLamasad a8 sl QDey FhGHEET DG gmééﬁmgn&,&
Qe aor(ereng 7
A)  Jpsw serBney Couenmait sl a1 sRGRSET
B) dygw sal@ney elpusnes ks
C) Nysw uréd 2_pubdurentssr sl HDey FRIGD
D) &) sl (Hmey cuhidl.
Which of the following has co-operative organisation as its members ?
A)  Primary Agriculture Credit Soclety
\,B)/ .f Primary Marketing Cooperative Society_
C}  Primary Milk Producers Cooperative Society -

D) Urban Cooperative Banker.

@ﬂ [ Turn over
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37.

18

uigud To vigque Mo Qurmsd, #8p QerRésiu Qeien OGS s

Q&meior® gfurer elerLewd Cainla

a)
b)
c)

d)

utigwés I

Gurit &rer @ phHeng el

uréy 2_pusdlureritaar sal HiDsy shGD

B&Y. Gl GDey eukdl

Qurg RGUTeEE Lk

@!ﬁ]lﬁ@&aﬁﬂ T

a

A) 1

B 4
o a

D) 3

b c d
2 3 4
3 2 1
1 3 2

2 4 1.

¥

w

U igwe 11
QuEses b
oysledt Sl b

sphenmé sL_Lemoliy

ST CoumT et sl HIey.

Match List I correctly with List II and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A 1
B 4
C) 4
D) 3

-

List I

t

War babies

Milk Producers' Cooperative Society

~ Urban Cooperative Banker

Public Distribution System

b c d ~
2 3 4
3 2 1
1 "3 2
2 4 1

605 |

List I
Operation Flood
Govt. sche.me
Unitary structure

Consumers' cooperative.
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40.

19

‘Gl Bpayset 2ars @hdluraler doms pbllbme’ aars aflu G wrs ?

A} Geuemmamreow @y 1928

B) wgdu cukd alerpeneansd G 1928

0  odfle Ghdu frmdlu s e @ 1954
D) @eubner ageybldeamen.

PGCP

Which committee stated that cooperatives were the best hope of rural India ?

\,ﬁ]/ Royal Commission on Agriculture, 1928

B)  Central Banking Enquiry Committee, 1928
C)  All India Rural Credit Society Committee, 1954

D) None of these.

‘Oinfeenars sau@lly’ a@p Qo arisomsle yfisomsdlar Garglou
Vmglﬂneﬂmgmr‘r w2

4a) s QuilLfls Hisaevass B) & e euil eurr

C) & Guaiwe Capflé e D) & erleui( Cudeuamedt.

Who summed up his report in two words 'Find Reiffeisen' ?
W~ Sir Frederick Nicholson B) - Sir Edward Law

C) Sir Daniel Hamilton D}  Sir Edward MacLagan.

FCyp QaTRssnu’ L ceuselles DT 6peTr) 6Tg) ?

A) | s&U.(HDey UcttTemeooTwiD

B) @Hsas sal (Himey ﬁ@dmcmemmm

Cl rhelst sl Hoay R

D)~ mevey Gal (DY LIGTOTEDGOTLID .

Which of the following is different from others ?
A)  Joint Farming Cooperative Society

B) Tenant Farming Cooperative Society

C)  Collective Farming Cooperative Society

D)/ Better Farming Cooperative Society.

[ 605 |
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41].

42,

Epsso. ansduisaend sauafl :
Fahmy (A) : Qerhg Hdle LhEEOsTame WeHluorer G sos udédamg.

sngeord (R} uhigdopres adug g6 Bpuasdld arhgd Spmer
AHSILRSS 2 seyFlemg.

S8y @l Petren @M g sfurer aloLoug CarbOs®
A) (A) wpoid (R) Gesor@d &, Gueyrd [R) aetugl (Al el sflurer aferéan
B} (A wbyib (R) Gresmin afl, Cuepbd (R} erebiug (A) ellbe sflurer eflensswden

C) (A sfl yyerew (R) geum

D) (A) seum gyermes (R) s,

Consider the following statements ;

Assertion (A} © Share capital occupies an important position in owned funds.

Reason (R) : Share capital helps to tmprove the borrowing power of the
institution.

Now select your answer according to the coding scheme given below :
\ﬂﬂ/ - Both {A) and (R} are irue aﬂd (R) is the correct explanation of {A)

B) Boﬂl {A) and (R} are true, but (R) is not the correct explanation df {A)
C) (A} is true, but (R is false

D) (A) is false. but (R} is true.

Sblurales eveutii Gé T Hé spab auGurws Campoialsain. g 2
A) 1959 B) 1960

C) 1961 D} 1962,

When was Deposit !néurance Corporation established in India ? -

A) 1959 B) 1960

C) 1961 Ja( 1962.
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Aptiyd sLall GO LESTD WIFTé euphslLGHFldmg 7

A}l purt@ B) wsslu oyye

C) worhe Syye , D) @Geveu erdoeurid.

Special development debentures are subscribed by

A) NABARD B) Central Government

C). State G.overnment -B‘)/ All ;]f these.

ACL oy L o emeoor eTedIDmey eTebranr 7
- A) geol Orés Syeey LJl'_lS}.LIJé\)- B)  syaor( 2 desmlL Semeyl ULIQwe

C) gg,m‘&@ Llltd &L 6T L g wed | D) @abyser agebdhme.

What is 'ACL' statement ?

A)  Annual Cash Limit Statement  «BJ Annuél Credit Limit Statement
.C)  Annual Crop Loan Statement D}  None of these.

B&T Fal QD6 euBdl L. a@Ip @uUsssdles wsHlusmald eumibssTs

a_eirengl.

A) aﬂqrrmés LT @I&HSHD B] pegs s @u_lés&,fo

C)  par bhmid Hymod sLe @LUE‘EEBL'D. D)  @eubpiet e gieyblevenen.
Urban co-operative banks occupy a significant place in._
A} Rural Credit Movement
.,B( | Urban Credit Movement
C)  Both Rural and Urban Credit Movement

D) None of these.
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46. wrhlevd suu'_@g)m cunidlmeflesr Cadlw Gleamrubd udla) Gslwlul L 3| 6@
A) 1978 | B) 1912
c) 1919 b 1920
The National Federatio._n of State Co-operative Banks was registered in the )-rear
A 1978 B B 1912
C) 1919 D} 1920.

47. Gerhs Bl aemis

A) LlEGS CsrTas B} evelyssi

C) Uh@SCISTans whnih STOYSsT D) &L eurhigas / Qupige.
Owned funds are ,

A)  Share capital | B) Deposits

\C{ ‘ .E—}oth share capital aﬁd resérves D) B.orrowings.

48. ATM areugy
A) g;nsﬁﬂmv:’uéﬂ '&,rrelu @u.nj,éllﬂb B) sralund) vt euphiGh @by
C) sraflund) o8s apseb Quidyd D) srelubd QgreeCuél Gubdie.
ATM stands for
A}  Automatic Time Machine : .,B)/ Automatic Teller Machlner

C) Automatic Typing Machine D) Automatic Telephone Machine,



49,

50. .

51.

| 23 PGCP
LSt epL_ebt YPODDU THESSW ufbgeny Qelsg ? |
4) Cusevsdt G
B) dlsew
Cl oo Qhdlus s seTaneus Gup
D) sfle @ifus s vpuflfeaamead @ep.
Which committee advocated. the crop loan system ?
A) MacLagan Cominittee
B) Planning éommittee
VC]/ All India Rural Credit Survey Cbmmitteé
D)‘ All India Rural Credit Review Commiiftee.
Ghdurallen wWpaee sl HDeysd s shsmsefldr sLLD alOUT(HE HOL IpHDL
URSsUULL g ? ' '
A) 1844 B}’ 1904
C) 1912 D) 1914.
When was the first Co-operative Credit Socleties Act passed in India ?
A 1844 B 1904
C) 1912 D) 1914.
.(y:g;a'&lepm Sgmo HiL b Qeriksiu’ L g Cpréash
A) Agmo euent58) ' B) Qouerraioiemn euenié &l
C) Qgmfié cueniéd D) srépel cuanilidihars.
Key Village Scheme was started for

A) - Development of Village B) Development of Agriculture

C) Dévelopment of Industries .BK Cattle development.
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52. uré Qarely Sl sdlemer urﬂg‘r;gjas}j@&u'.tg)sur'r w7
A)  Gadlw uTes el Hpey Gleresmub B)  Gzélu uréeuer euemiéd) euriflui

C)  wmumi@ _ D) Gsdlu Bauatredsiann G-
Who suggested the Milk grids ?

A) National Dairy Cooperative Federation
B}  National Dairy Development Board
C) NABARD

\/[]( National Commission on Agriculature.

53. & (hmey sisHsHemry %mmuﬂs&r > Mlemwwreniaen w7
A) SyrErR&sD
B) a&mby 20usdl Qelyd gnssdlanteer
C)  udleurent |
D) flifeursd &up.
Who are the owners of sugar cooperétives ?
A) Government _ : By ' Sugarcane growing members
C) Registrar ' D) Board.
54. NCHF et aflfleuréaid

A Gadlu sat HDey 2 L ho &al L ol
B) Gaflu emoulr ol @ aied) sal L aniniiy
C) Csélu sat Hpey I cuad) shiahseilen sol L eninlil
D) Gsdlu i@ cuad Hd &uLI'_LGo‘JlDL'JL.{:
Expansion of NCHF is
A) National Cooperative Health Federation Lid.
B) National Corporate Housing Finance Ltd.

\(2‘.( National Federation of Housing Cooperatives

D)  National Federation of Hpﬁsing Finance.
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55.

56.

25 PGCP

@hduraler wpge LTG Ll GD he Gl HHle Q bSlssILLLg 7
A) | SRHTUTE B]  wrgeumb

C) o D) yGar.

In which place was the first dairy cooperative started in India ? .
\m/ Allaﬁabad B) Madhavaram

C) Anand ‘ D) Pune.

Fpsaaor eunbdlutisemend seue :

sahm (A} D sl BDey sr&se) aoaasaflle e CeTeaaraal LLSTUHSS
apig eugléoanen,

angerid (R) : S®bY @ uGusTaw Ll 2 Gb.

&8 GNP Peren @Bl g e sflurer oo omwus Carbda® :

A ) wbps R Gremed ofl, Gogib (R) aeng (A) dlpe sfurer efarse

B)  (A) whpd (R @readn fl, Guaub (R) sratug (A elihe sfurer aflerssnae
Q) (4) afl e (R} peuny

D) (Al seupy semés (R) gl

Consider the following statements :

Assertion (A) : In Co-operative Sugar Mills full capacity utilisation is not
achieved.

Reason (R} : Because sugarcane is a seasonal crop.

Now select your answer according to the coding scheme given below :

\,A’]/ Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are trué, but (R) is not the correct explanation of (A)

C)  (A}is true, but (R} is false ' s T e

D) (A) is false, bui (R) is true.
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97.

58.

59.

@6 Il sC_Ob &l Oney shissdie Hilysal asengiueL tléd auphaliL@daips ¢

A) 2.0 B)  eeulyssh
C) uLaGH CsTaos whmd &riky Bl D)  eruy flé.
Financial assistance to a housing cooperative society is based upon

A)  Surplus , ' B] Deposits

: -.C)/ Share capital & reserves D} Reserves.

ST 6 BIsTCourT snl Gpeysel eriGLTYE 2T DINSSUIL LT ?
Al 1904 - B) 1912
C) 1919 D) 1927

When was the first Consumer Cooperalive Soceity started in Tarnil Nadu ?

%)/1904 B 1912

. C) 1919 D} 1927

NCDC aretip Qersenen alfleurés.

A} Ggélu @&ﬁémm‘r cuenr &8 sal_ Doeys e

B) Gadlu psrGeuri cuenisdl seyesrélen

C) GCsélw %L@g)cq'mmr‘réé\-&gp&m

D) Gudlu sl Gipey cuenitsdl ésqe&ré]e’u.

Expansion of the term NCDC is

A) National Cﬁnsumer Development Cooperatives

B)  National Consumer Development Council

VG( National Cocperative Development Corporation

D)  National Cooperative Development Council.
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60.

61.

62.

27 " PGCP
S|(pe pemmledT HL.Lemiy
A g1RéG Weom B) @Qranh @6 e
Cl  wop 2666 Yo D) et 1066 oD,
The structure of Amul pattern is
A) Unitary 7 B)  Two tier
\Q/ Three tier D} Four tierl.
S PHTL g6 Leurhoid s’ Gney GQews udeureniael arggener Gui 1 |
A) | 14 . B) 12
Q10 | D)  @eibpst azeifidoen.
How many functional Registrars of cooperative are serving in Tamil Nadu ?
Jﬂ/ 14 _ B} 12
C) 10 : D)  None of these.
VAMNICOM eréiip @andvene allfleurs@s.
A oaghs Cuisr Cadlu sl Bney Guereoenn Hlipeaierd
B) afprwsr Caélw Efm.l_'_@;pﬂ.i Cueuressentd Hipeuesd
C)  Gausranpsr Cafiu nl Hney CuesTeitnenn Hireued
D) aEhp Cossr s Gpe Goeraien ewwib.
The expansion of VAMNICOM is
./P{ Vaikuntha Mehta National Institute of Co-operative Management
B)  Vinayaka National Institute of Co-cperative Management
C} Vivekananda National Instﬁute of Co-operative Management
D) Vaikuntha Mehtg Centre for Co-operative Management.
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63.

64.

65.

S DoeysEnse dabadea Huysalaer QarReaiu@ddmen 7
A}l &L, 2 sdlneunsh B  ddlysal
C) orolukser D) @& Smasgih.

What are the financial aids given to cooperatives ?

+ A Loans, Guarantee - Bl Grants-in-aid

C)  Subsidies 1 all of these.

SBPETH ol Qe shshaelldr el Lb 1983 ¢ ahs 058 sl  Hpey ehepdld

BT 56 Guea soagaai aufl Cleldng 2
A)  srHg 81 B) e&ggz 82
C) =rsg 135 D) e&p&sg 137.

Which Section of the Tamil Nadu Cooperative Societies Act, 1983 provides for

suspension of board of management of cooperative ?

A)  Section 81 B ‘Sectjon 82

C) . Section 1356 | \51/ Section 137.

&Cy QaTRésiul L eeuseld g GpagaTa wiHu Syl Hrb ag ?

Al IRDP ‘ B) ICDP

C) NCDC. D) DRDA.

Which of the following is the centrally spolnsored scheme for cooperatives ?
A) IRDP B]/ ICDP

C) NCDC - D) - DRDA.
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66.

67.

68.

' Which committee recommended for the conduct of elections in cooperatives in

29 : PGCP

Blapey arebaaile am QDasarbed Carse L bHaasamel Qrﬂnj,gjsmg Qels Gp

wrg) ?
A)  Guir. eneusgIub BT @ B)  Gupr. wresd y5lCemauur
) Gugm. LmeTC eumeun ' D)  Guyr. gurél.

#
recent year 7

AT " Prof. Vaidyanathan Committee

B) Prof. Malcolm Adisesiah Committee

- Q) Prof. Dantwala Committee

D) Prof. Dubashi Comumittee.

a‘f@gp QaTHssLILCRerereneusaild eremen HETRITITEU Gal (DD LIS 7
A)  evaraoyCnelwed sl Bneyser i B) @idu el Gpeysel

C)  Jeflieuetien gal Gneyser D) Famsr s Gpejss.
Which of the following are the voluntary cooperative ?

\A’]/. Scandinavian cooperatives B) Indian cooperatives

C] Philippines cooperatives D)  Sri Lankan cooperatives.
G ps ILO oy & ICA yflbgicontey GUUbsSEd eeCudpsii L8 7
A) 2003 B) 2005

C) 2004 D)  2002.

When did ICA sign a MOU with ILO to implement cooperative agenda ?
A) | 2003 | B) 2005

Vc«)/ 2004 D) 2002.
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69.

70,

71.

Fol” ODey LHE LG UIEGD «oreeerereneenne D IR GESIL TeTé DEOWEHSILLLF).
A) 1960 -B) 1965

C) 1963 ‘ D} 1968.

The Government of India setup a study team on cooperative training in the year

.( 1960 B) 1965

C) 1963 D) 1968.
ICA 267 #@L’Jlﬁﬂcﬁrl’r SHEDLILHEDET ... priseties QamedoeTerg).
A) 96 | B) 105
C) 102 D) 97.
ICA has 267 member organisations from ............ countries.
\4]‘ 96 B) 105
o 102 | D) 97

‘gl Hmey FHlimeuestd epovd Quamaaren augICUDE CFLSER’ THTUS ...ocoveeene..

ST et 2 ewsemmallu Fal Hipey QaraTLIL L et HHUCUTHET.
'A} 2011 . B) 2010
C} 2009 | D) 2008.

'Cooperative enterprise empowers women' was the theme of which year of

international co-operative celebration ?

A) 2011 - - B]\/2‘0 10

C) 2009 ' D) 2008




72.

73.

74.

31 PGCP

udihdlleér eurbné, Hpemw wHrd m@mrrr@smm eresTLBEET pHRGE et g
4a) Qedgperpts Lflhd . B leufldgen

C) el gpell smiTps s Seelr D) B sabpgequLe.

In training knowledge, skills and attitude are associated with

A) Demt_mstrat-ion B) Explanation

C)‘/ Audio-visual aid;", | D) | Group discussion.

uifipéles ghu L el wrHob. eresiprey aTedest ?

A) Gouamen @&Lusué]é; Syl wrHpbd B) Geuemevdlév ggbd wrHpbd §)densen
C) - Geousmen Glalisudles @eophs wrbHnd D) Eeubmnyen gabldsmen.

What is zero transfer of training ?

" A)  Higher level of job performanée B]‘/I'\Io change in job performance

C}  Lower level of job performance D)  None of these.
.67, 6ThS QLML LT [ sal HDey Sy rs Sdlalisgerers ?

A) 1909 B) 1911

O 2012 D)  2015.

Which year was declared by U.N.O. as the International Year of Co-operation ?

A) 1909 | B) 1911

c/zmz D) 2015
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75.

76.

7T

1995 - ue@TL.Réd sl Oneyd sbGwers: @Guallar @&l (Qpas sallbgtan
Sifidensilles, eTHTWED 6redTLISH
A) B4 bhpd SPGEHD alapdlub B) el Goey afpBwb
Cl puwés algpblub | D} GQuirgetnsry ellgpblub, .
According to ICA - Statement of the Co-operative ldentity 1995, Democra(:}; is
a/an
Ethical value B) | Co-operative value
/ Moral value D] Economic value.
GhHlmThE sl Bney euenitsflg diL sdler aren Semey G_rsij'susrrsq ?
A 3 ELbse B) 4 cupL e
C) 5 eu(mLR&eT ' D) 6 cumLrugar, H
What is the projéct périod vof ICDP ?
A)  3years . B) 4years
;3)\/5 years | | D} 6. years. _ ‘
apesT@eormy eumdld ghiLd Camium e aﬂ@&ﬂu@&,é}mg Wi 7

Al RBI B) SBi

C) NCDC ‘ D) NABARD.

The Lead bank scheme was introduced by which organisation ?
A) 'RBI B) SBI

C) NCDC ‘ DF//NABARD.




78.

79.

80.

33 PaCP
Gl Pmeys s senlysapdbel ysbadlt oeflés ouvsstiuL ‘Qaubums
SN Heneueur W 7 |
Al Hlm. Opadey syt B)  Gurp. eveusdlummgest
C) dw. J. Heugrwes D) @euts@pen eraumleurt.

Who was the Chairman of Task force on revival of Co-operative Credit

Institution ?

"

A) Shri Jagadish Kapoor B) Prof. A. Vaidyanathan

C)  Shri B. Sivaraman D) None of them.

@ear'r('smrrr'f Fal (Dneyé shshiseiler ueoiteow Cubupss 2 flu Sravas Coihads.

Al dmemwwrer Cueureisienin B)  spys ukGaihy

C) 2 pilereny aﬂ&ﬁu@g‘@gs\} - D) @emen .gqcmmﬁgjio.

The remedial measu.re to improve the performance of consumer co-operatives is
A) Efficient Management B)  State Partnership

C) Increasing Membership D) v All o;” these.

alGuTe Ceuanmesoennls Qu@ear (sueriédl wHOID uthle_lé'h&:ﬂ'EJLD &p&HE sl b
@uHolul L. g 2

A) 1958 | B) 1959

C} 1960 Dj 1961,

When was Agricultural Produce { Development and Warehousing ) Corporation

Act passed ? ‘
A) 1958 B]'/1‘959
C) 1960 D) 1961
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81.

82,

RBI - &1 p&dlu nesfienws @@DLS]@&:.

A spyaseres eumidl bibnn eubdlufea ek
B}  wihél eusd geMssco

C)  wip @eped Qaclipss

D) Qeubmier ergiaybléoemen.

The main function of RBI is

“A) ‘/I;anker to Government and Banker to Banks

B]  Provide Training Facility

C) Publication of Monthly Magazine

D) None of these.

Spsacsupnet NCCF &1 pédlu Curéasanss Opflay Qe

Al EpeTGart sal (Hney @mé&&@gﬂé@ odlerri Cuisranre Qeudulse
B) GeuenmesoremioL Qurr@n.ia:eoisntn ug,ﬂu@i;g;g,@

C) Geuenmesoreniols QUM HL Hemerm &ﬁ;‘@gﬂu@i@g@

D)  @eubmet ergaubldane.

The main function of NCCF is

A) l/l"o Act as spokesman of the consumer co-operative movement
B) Processing of agricuitural produce

C)  Marketing of agricultural produce

D) None of these.
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83. amdfle@lé au 2 5als Gubsmer Qeaase aam Slisos Ghduraie
SDPHLLHSEug W 2

A) NCDC B) NABARD

C) RBI D) SCB.

Who introduced Self-Help Groups Banks Linkage Scheme in India ?
A) NCDC . - ' B)/NABARD

C) RBI D} SCB.

84. NABARD eréstpmes eredran 7 _‘
Al GCadlu senalleomen wobldl euphi@id [E!@msmfn-l_
Bl uwrhle Senafleomes wpbld euphigd Hiyeussd
C)  ueam @ wokld epheb R
D) @eubpet srgapbléemen..
What is NABARD ?
Al / National Level Refinancing Institution
B)  State Level Refinancing Institution
C) International Refinancing Institution

D) None of these.

85. DCCWS aliflau@égs.
A)  wreult BETGaTT QLIss sal (RDey LETHTL &8 Teme
B) Guryyg meTGuTT Qriss sl Hiney LT s&Tene
C) wreulL g,]&.r'r(Bsurrr'r- Fal_(Amey| blLicdor e uafcn_aa&rrs&,eu
D @eubmer egapddmen.
Expansion of DCCWS is
A) \/ District Consumer Co-operative Wholesale stores
B}  Direct Consumer Co-operative Wholesale stores
C) District Consumer Co-operative Women Stores

D) none of these.
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86.

87.

S Qar@asin.Psiereneuseilcy eflumes arsdui oGl 2

A oyriédl aatug Ludlers s ILSTED

B) ydlame sear@iigliusbe rThédl cublmL S8 .Gl&e‘\:aﬂrp@
Q) scn@iliginy whpd gyrisst glume Gemubpgs
D) @eubmier GFQJG}.'L&G‘\)GD')G\J.I |

Which of the following statements is correct ?

“A) Discoveries are researches

B]V’q?{esearchcs lead to discovery

C) Invention and research are not related

D) None of these.

ulgued e ulgue o & Qurpsd), £Cp Qar@ssiu Garer @HuRasmears
Carean@® sflurer allaw swsd Saipbls® : C

uig e I urgwé II
( Crirareamid ) | ( Qur@et )

a)  (peopwre BB smeooe 1. luSl&,squ Qrdlpsfluren gmiG WD
b)  wpeopupp Copieremte 2.  uediushe aloiTama salmmores
e e ehs CouctoHin
) Opsfleurer 2 p@srpr 3. seflpul aumphans Syguueub
GpiT &I ewren '-

d)  Gpowbp CHiememTe 4. pargal gCu Hleésddstinc L Caerall.
GHd@sst : ‘ |

a b c d

Al 1 4 3 2

Cl 4 1 2 3

D) 3 2 1 4.



88.

89.
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Match List I correctly with List IT and select your answer using the codes given

below :
List I List II
( Interview ) : ( Meaning )
a) Structured interview 1.  Greater flexibility approach
b) Unstrutured interview 2.  Attention on the question to be
answered

¢) Focussed interview 3. Individual life experience

d) Clean interview 4. Pre-determined questions.
Codes :

a b c - d
A} 1 4 3
B 2 3 4 1
C}//‘él 1 2 3

D 3 2 1. 4.

eflsrryenaor Qe iLeut aflenerena sewor_HID By iey eresTLg
A} ugnumpmig S B) e&euCuren -GuasBLr yymisd]
C)  aurerbn ymisd D) Oar@sg smibd rmibFs.

The study in which the investigator attempts to trace an effect is known as

A)  survey research - Bl/ex—post facto

C) historical research D) su_mmative research.
&Un&ﬂquar QIBTLATYEILWG oovrveeerarean 2L GD.

Al a¥s aaeoe k B) Q@efloe e

C} slGoy D} umeusmen LDFFQJUU@.

The average is associated with
A) Range BP/Mean
C)  Correlation , D)  Cyclical.
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90. ulguée Iy utguwd Iz & QurEsdl. sCp Qer@esiu fpeer @iiGsamens

Qeren@® eflurar aloLaows CaibOsd :

‘a]

ulguwes I
(apeom)
SUTETDHNI (PeOD

- urdumiey (peeD

sl gy (pop
Gargenes (Lpeom

b c d
1 2 3
3 4 1
a3 2 1
2 1 4.

b)
c}
d)
@Pdpssi :
a
A 4
B 2
C) 4
D) 3

Lol

g e II

(@ur@ei)
wrHROuGegsedler ey
galiyore oy iy
Cargenanan. 2y b6y

sLbS Hlapsél.

Match List I correctly with List II and select your answer using the codes given

below :

a)
b)
c)

d)

Codes :

g

B)
C)

D)

List I
({ Method )

Historical method
Survey method
Case study method

Experimental method

b c d
1 2 3
3 4 1
3 2 1
2 1 4

605
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List 1
( Meaning )

Sampling size
Intensive study
Laboratory study

Past event.
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91. uvliguée Igp ulgue I2id QuIksdl. £Cyp Cer@éaiulPsier GHWUHsmens

Qanem® sflurer efleoLwd CoibOs0 :

uCgwe I

ewwblenel Cureg

Ly OS@

SLODey

Gl 1g SHTL L6

1

a)
b)
c}
d)
A C L
a
A} 1
B 3
c) 2
D) 4

1

4

2

3

3.

utigwé I
1. ggaldlgb
2. @leoLHleme
3. mmedr-umgr o flé

4, syeuflens.

Match List I correctly with List II and select your answer using the codes given

below

a)
b)
c)

d)

Codes :

A)

B
C

D)

v

3
2
4

List I
Central tendency
Dispersion
Correlation
Significance

b c d
3 2 4

4 2 1
1 4 3
1 2 3.

List 11
| Percentile
2. . Median

3. Non-parametric

4, Rank order.
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92.

93.

94.

SPleurbpese QumpsHs CuhEerer@sd @ FTiESNenss ... STEuTeuTLD.
A) uweaTenD &ThHSEmEL B) uyssmie (pen
Cl}  saluLbbn peon D) aleufliy qpenp.

A research undertaken for the purpose of knowledge is called as ...............

research.

A}  applied B)'/;xploratory |

C) pure D)  descriptive.

2 L aOIqUTHE SN _GH&EGaIL HHEUR .o GTeeTd,

A)  2.lyp HeTyD | B) wsetempures 2 emiyb
C) 160 T DI & ASTIO D) Qewsfldyp BT

A readily available data is called as

A)  internal sources ' B) primary sources
C)\/E.econdary sources | D}  external sources.
alfleurés gybele, srgdiu sapseiler uglue wTE ?

A) eD&Canar r B)  uweLML g6 2 66T HoHeren
C) o cooenw Gpieysen | D) Gerlunm@.

In descriptive studies, what is the basis for formulation of hypotﬁesis ?
A)  Objective B/ Existing data

C} Fact ‘ D}  Theory.
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grisfurent seflesr FLUELL HLAIGEDEEDET .......cnvn. areseurtid.
A le oD Bl ayley syfibms,
C)  sybey angeusmwliy - D) @eubmyeir ergiaydlévemen.
A research scholar's plan of action is called as -
A) Research method B) Reséarch report
C[/ Research design D) None of these.
88y Qar@ssiu @ aflughsameas Qeradn® Hpbu Cssabd sTOHOSEH
. saRISAlayb.
sugmLb Qyrées grLb
.

0 (2,50,000)

1 50,000

2 80,000

3 1,20,000

4 80,000

5 40,000
A) 5 gy Topasi T B) 4 y@ofes
C) 3 g c@s D) 3, gycm@set.
Given the following data :

Year Cash flow
Rs.

o - (2,50.000)

1 50,000

2 80,000

3 1,20,000

4 80,000

5 ‘ : 40,000

The payback period is ................. | years.

A) 5 - B) 4
> 3 D) 33.
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97.

98.

99,

SLbsallomadbed ofloaurgessbd 2da Qasriify wbnbd oloeéed

aﬁ]ema‘r@urr@@&@tb 2_eiten QBTL TSl ST GTelRBLTITSTE B)HEHTD 7
A)  oeailur Qgr iy B) et eveveflwit Qi
C) (A wpoib (B) Geew Gedob . D) @eubpet ergiepfldeme.

What may be the nature of relationship between the cost and outpul and price

and output ?

A) Linear relationship - B) Non-linear relationship

Q)/ Both (A) and (B) | D)  None of these.

eniFu sresdlé efitnfld Qrpdpey Qaran. @G QuITEL S ........ e eresTeuLD.
A) Hleveowre GHGUNGBL el Bl wrpuGb @EOUTmL e

Q)  palar QRGUMTHL el D) Qe Seoarsaib.

The input whose supply is elastic in the short-run is known as
A)  fixed input Q]/ variable input

C)  modern input D}  all of these.

SCp Qarfésiu Herer amdassale g wromd Gur@er wHD HeewD)

Gurmplemad Geraa. Qurmelldr allemes wTHDD Celeudléd uwuashensTa

2 _efeng 7
Al o G\g;aﬁ]gpéé] " B enée opdpsd
C) @b QnSHlped D) @ea et aib.

Which of the following concepts is most useful in changing prices of products

having substitutes and complementary goods ?

Al Price elasticity Br/Cross elasticity
: : : .
C) Income elasticity D)  All of these. '
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100. &8 Can@éauu Hefen DL CUGETT ........... L bsallmedg Hphs 2 STyemions
ETDE LT '
‘ DI BT gymat
SiL&& alane
.-

150 1,000

160 - 1,200

180 2,000

190 2,200

200 2,400
A) Gndlflaws Caeey B) owrpuldsagu Ceeey
C) Fleewursa Glewey D) 2 wihg aumh Ggeey.
The table given below is a best example for .................. cost.

No. of units Average cost
in Rs.

150 1,000

160 - 11,200

180 2,000

190 2,200

200 2,400
Al Marginal cost ' B)  Variable cost
Q) Fixed cost D!/ In_creasing cost.

101. eugonar Ggemeu QRélpsdl ganilbe Cuwe Carau@erer GUTHST ..o

Glummerm o,
A)  spduradlud Qumme B) &y buyl Qurgear
C)  sywbhp QuTmeT ‘ D) Qeroiuhn Qummst.
If the income elasticity of demand is greater than unity, the commodity is
A)  a necessity B)//a luxury
C}  an inferior good D) a non-related good.
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PGCP 44

102. dleopey Curiy Fleaausbes &Cp CaT@ss0LL Reer Igiorakacld ag

103.

(Bg,m@uﬂd)mm ?

A)  g© sswwoTet QUNEGL &6

B) cumsl@ucu@és@; ueGain efihuenearurent aet wsdliild Qsfley Geveans

Cl @si.rGlmrr@ a_rj)uﬁ,,ilunér@fn Jip 2 pusdureniseiear Gerusans &ﬂgbﬁ@tlur'r

D}  speoglldn ue ugdacie BHeoab oloelloa maTCaurt Seoera@mb
SPIBHGOLT.

Which of the following assumptions is not necessary for the existence of perfect
competition ? '

A) Products are homogeneous
B) - Buyers have no preference as among different sellers
C) Each prodﬁcer is aware of the profits made by the other

D) = Buyers have knowledge of prices in every part of the market.

whnflenw gﬁ]@c;._lasrﬁé\dw QurmEnshaTer Gsemeu

A)  Opdlpappg

B] Onpdlpaaiwg

C) sofloe Cpdlpa

D]l Curgiores sheng Caemeu CnEPay alluyhiser Gawars Hoadld wye adss

QPYRUTH.
The demand for the product of a monopoly firm is
A)  Inelastic
B) Elasﬁc
C) Unitary in elasticity

DJ/ Impossible to decide without the knowledge of the market demand
elasticity.



104.

105.

106.

45 PGCP

allhuererllés ghHuED WwTHHD auuy @inhs Glurpad eumeurl gHuLd Snig W

FTHHWDTET IDTHDD ...ovnnreennn 34 GID.
A) @mdlbleney eumeuis B) 2 wihal eumlh eumairl
C)  sqmefl cumeurds D) &remTeR eumaUTL.

A positive change in the revenue irrespective of the change in the sales is known

as
A) Marginal revenue B)/ Incremental revenue
C) Avérage revenue D) Normal revenue.

Q) Qar@ésliul Heien UL Eieeflé ag Gueramew CurnmpeuGar® GCnmhasiu
QBT SbDgl ?
A) sawhg — B}  yerefuthue
C) &L@{Daﬂmd) D) sadbs udallue.
Which of the following subjects is not closely related to Managerial Economics ?
A)  Mathematics _ B)‘ Statistics |
C\/ Co-operation -D) Accounting.
utguéd I ulgue 2 a& Qurepsdl, £Cyp Car@ssi Gster GRliRsmens
Garan® sflurar aloLowd Carposd -

uCigueo I e I

et

a)  Flliflié G, §5HS DETLILTETELD

bl  sCQuur® 2. Cprésb
d  Qubese 3. eidé
d) ssae STy 4. ofessiue.

eNiGser :

a b c d
A) 1 2 3 4
B) 2 4 1 3‘
C) 1 2. 4 3

Dj 2 4 3 1.
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Match List I correctly with List II and select your answer using the codes given

below :
List I | List I1

a] Planning 1. - Morale

b} Controlling 2. Goal

¢) Directing - 3. Coding

d) Communicating 4. Deviation.
Codes :

a b c d
A} 1 2 3 4

B 2 4 1 3
C} 1 2 4 3
D) 2 4 3 1.
107. Gurgians 2 gedl LEATTEE nr..n.... BUHS SHeudsenen 2wt a@]&rr.lﬂ&eﬂx_tb
Qg flalliur.
A) QGureamerael wpmbd CeucorGBaT e B) 2 $g7af whnib Geudellershen
C)  syenemr D) alleogeure paacsel.
Normally subordinate sends communication to their superiors about
/rl/ suggestions and request B}  orders and instrucﬁons
C) directive D)  speed information.
108. gienemrl uesflureniaenen Hireudliug QBTLALEL G UG ............. 2L Gb.

A fordl & B) @Quégalisd
C) euloanisd i D) - uehlwuwtggsn. |
Management of subordinate is related to ....................... .. function.
A) planning Bj \Aiirecting
C) co-ordinéting D) staffing.
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109. uaflunigsele wpadlunrer aiphise eufieer Lreneal 7

110.

111.

A esdleé apaons B) ypsdlén epenrs
C)  osb bhod UDSHl@T penre D] Qsusfl gyevwliy epevors.

What are the main sources of recruitment ?

_A) Internal source B) _ External source
Cl/]nternal and external source D}  Outsourcing.
SLQUUTH ererugenard QEMlhg CEMeTeusmed BUEDT .ovvvrreeeeenees, eTebTm Syl SeuT

Tend Bl (PQUITE.

A} ersueurmy Npeoréd s EGHLITL.IG 6 émsuuugj

B)  sl@ouTh eretimmey erebrest -

C) wri sLEUUESgeur

D)  eaemeu sl (HUUITL g6y 2 6fengy.

Understanding control does not signify understanding

A]/ how to control B}  what is meant by control
C) who coﬁtrols | D) whalt is controlled.

TeLELSWITRT Haeuc QBT s sCafuyl udaluase QuTGESILTRIS ?

A)  Cualrprad - Bl epurer

C)  &pGmrad : D) (pemmupD.
Which type of communication is suitable for accounting of records ?

A) Upward B]/Formal

C) Downward "D} Informal.
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112. Quégalgseier wpuhdllle 2 sier w&élw 2 1" snry wre 2

113.

114.

A) s aDhISEH B) ea&@aibsd

C) Gleugwrerd | D) geoeu Semandsib.

“"What are the client elements of direction ?

A) Issuihg order B) Motivation

C)  Rewarding D]/ All of these.
auflens wpeop semwille giflerrsdlar gl i oemnding 2
Al Cudlppa £Cyp B} 2Gs flaaudé
C)  dPeba Cuoe D) dlevenaaflan. Gu.
In line organisation authority flows

A) \/.frorn top to bottom B) at the same'level
C) from bottom to top D) at branch level,
Sl Ll epevids QupLLBeus

A} G TS s el H& 61608 6T

B) adifere Gareiamsaa g?r'nprrsmrslma‘r

C)  aréoeurr g,ur'raa@é;@m auflamit o

D) @ It HEID.

Planning provides

A) lnfdrmation to rnanagemeht

B]/ basis for future policy formulation‘ :

C)  purpose and direction of a]l person

D) all of these.
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115. &l (BiDey Sjeblyseiler WROUGSIEEG WhdwwTeTs wrg ?

116.

117.

A opdleraefien aunéeg B} dlians Gub@pTeer
C) .gqj&rnfilasth D)  syeysueuri el

What is the basis for decision making in co-operatives ?

A]-/ Members' votes B) Board of directors

C) Government _D) Officials.

Spbsaauphld sl Bney gearprused Hplurssd QeuduBashE wWsHalwim e
sryeolaet ereneu ?

A) B seuarapeien o puilleisen B}  ygeowlurkerat Blfeurss &

0 epolSent efgoud whpid FRUTE D) @ear syemardgib.

Which of the following factors is / are responsible for the success of co-operative
democracy ?

A)  Vigilant membership
B} Enlightened board of directors

C) Members' interest and involvementi

D} Al of these.

gpoeaoLabpet @bhdlus sl Goasaian wé&du Guerdmew Q@i fume .

Jyéeeancr eremeu 7
A) S gl B) usvelennren Hereeninll LIetoTL

C) cuegaardgould GonbHs D) @ o1 HFIb.

Which of the following is / are the important managerial problem of the Indian
Co-operatives ?

A) State participation B) Weaker leadership
C) Lack of self reliance . D]\/All of these.
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4

118. utguéd I wligue Mol Quipsd, £8p Qar®asiul Gerer GRSHsaens

Q@ sflure aloLowus CarhGs®

ulguwén I

Bldldhuss Gueur esstemo

Fheng Wl Hens BT eos e

2 pusdl Gueoreaenn

uemothurent Gueorctoremn

4

a}
b)
c)
d)
ePi@as
a
A) 2
Bl 1
Q2
D} 4

1

3

2

1

3.

urigwe II

1. uels Coiiey
2.  dldlewd LudTuRSas®
3. Qarerdlper LLSTLESSSH

4, QUPBGR (PEODESET.

Match List I correctly with List II and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A 2
"B) 1

List 1

Financial Management

Marketing Management

Production Management

Personnel Management

605 ]

List II
Recruitment
Utilisation of funds
Capacity utilisation

Channels of distribution.



119.

120.

121.

- C) current assets of the company

51 PGCP-

&6 Ppouasdamy uaiurent CaTdamasee o hidlusierame
A)  udpé : B urgiemiy GsTLrgeLw s Lib
C)  uewh fhlene D} @emcu 2{ENTSHIID.

Personnel policy of an organisation includes

A)  Training ‘B)  Working condition
C) Rules related to security D]t/ All of these.
@eoml) LEAITERY APIGOY TETUS «vrrvrrerernees abs Senallhe Gerusas Ldlibselss

CouctorRD eTediugy FTihHS (LPl§eUTESD.

Al Quirgwssern B) ukggrmitmen

C)  eemPluisen D) @Geubmer agapbldoame.

Dividend decision is concerned with the quantum of profit to be diéMbuted to ~
A)  Public B)\ Shareholders

C) Employees D) None of these.

@a\)rrug udliedled @@. L@ |

A Poeuagdlar Qerdghaar

B} &Leisal

C) @@ BineuasdlaeoLw Bl i Q\&rHgishe s

D) @)eurrLib.

Dividend is the portion ol

A)  assets of the company B) debt

D) ‘/]:)roﬂt.
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122. gy Nflsse @eubier wpéadlul Licw?)

A dleoaiufsssc B)  @és Fli afluyd

C) subloetufigisd D) @euppset sgiapfldene.
Grading is an important process in the function of

A/ + standardisation B} specialisation

Q) equaiisatioﬁ D) none of these.

123. £8p Qarpasiu eiamalle doea allbuoma aloaou Hiclsed waon
FlemL_wirg) ? '
A) S(L &0 + muiD gliLemueurr et apenm
B) @Gndfloe g saaleen (paop
C)  @eoruplLifléver Lsiefl elema
D)  (pereumeng pebrblFesacy (Lpemm.
Which one of the following is not a method of fixing prices ?
A) Cost plus pricing method B) Marginal cost pricing method
C) - Break-even pricing method m/ First in first out method.
124, uigqué Ie uligue Ile L6 Qurigpsd, £8P Qen@ssiul Perar GNUIGsamers
Lareor(® sfures il eowd Caiboad :

uLiguwes I utigws I
a)  epebTmEdTLIIGET gpebTDITETT (LpeD 1. PERT
b) aavils e 2. oeflser
| c)  sr&SHUY (W 3. EOQ
d 93650 WweoD 4, s LY 2L Wg).

@nﬂlﬁ@&:ﬂr :
a b ¢ d

A 1 2 3 4

B 4 1 3 2
Q) 3 1 2 . 4

D) 3 1 4 2. |
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Match List I correctly with List II and select your answer using the codes given

below : :
- List I List I1
a}  Sequencing maodel 1. PERT
b} Mathematical model 2. Matrix
c)] Inventory model 3. EOQ
d} Alocation model 4. Convex.
Codes :
a b c d
A)\/ 1 3 4
B4 1 3 2
C] 3 1 2 4
D 3 1 4 2 _
CaTR&SUULeTen ' -
@-—vb@—_b@»@--b(?
(ii)
Output <9>4 <8> - <7>
BuBe QaTHsarLL Herer susTULD aagsd & HElnal ?
A) g6 Car(@ B) Sfsserar and |
C) N.gL.euiy. D) udlirey Camlium(.
Given :

JoR OR O ROR ®

The above diagram shows
Al/ Line ol balance - - B)  Critical path
C) "PERT ) - D) Distribution theory.
[605 ] [ Turn over:
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126.

127.

128.

g8 pHr @ sl Qe shushnsalar oflgl 1988 & aphs alldl Guoenman
Gusgataaie sedawls LB samdng 2

Al afid) 145 Bl i) 168
C)  aidl 178 D) &4 152.

Which rule of Tamil Nadu Cooperative Societies Rules, 1988 deals with the
qualification of managing director ?

AL Rule 145 B) Rule 168
C)  Rule 178 _ ‘ D) Rule 152.

&Gl QeTHHHOLL Hetereuisefé shsd udley QelwiulLgharer sradlgemyp

Qlumeut wir 7
A} omaTeowllés 2 e ifus ket B) wreu L fifeursin
C)  wpaadeowwrent ' D)  Hgro LEhsTuss.

Who among the following shall receive the certificate of registration of a society ?

" A)  Neighbouring societies B}  District administration

C}/ The promoter - D)  The Village Panchayat.

Bl 2_sal cuhidl LGN (pE shahsellad sam &g ussahsaer LTTaeaud b ?
A)  eiwumps CoustorROLETDITeYID |

B)  eopbsulsd QBLSEIDG 3G oD

C) wrarhdly sal L hser HLHGDOUTLHES

D) @leme T HGID.

When can the financing bank inspect the books of accounts of a society ?
A) At any time B) Al least onée in a year

C)  During monthly meetings D) v "All of these.
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129. sl ey ghshsellear sambans wTh geoNéams O Lwerd 2

130.

131.

Al udleurent B} 95@ 2 gall euke

C) Guige Gerens g D) ullw semamemud.
Who shall audit the accounts of a cooperative society ?

A)\/ The Registrar B) Financing bank

C)  Federal society D)  Chartered accountant.

ey erusdle Gube assoa ssalsb smiOne gmidd oo euerisd
Hf&ers assd Celuiu@dpg 2

Al 6% B 3%
C] 10% D) 9%,

What is the percentage of net profit allocated for cooperative research and
development fund ? '

A) 6% B] /;3%

Q. 10% D) 9%.

QUBLTHEI QTSGR sl LD b (ngrré,assﬁjs,@é,&m&:é; gal L LURHSSTDG 7
A} o @® ey Clewe) FlLsHbE pULse Seiliiug |

Bl @@ smibossu ufldomen Gsilag

C) 088 uGd Hoh Cswagpenn A sHDe USSR Ianssc

D) Gweu simendgid.

What are the purposes for which annual general body meeting is convened ? .

A)  To approve annual budget
B). To review annual report
C)  To approve the plan of action for next year

DM\H of these.

@‘6_:5_1 - [ Turm over
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132. shstsan: ufla QELEISHETT HTEEIRITUED WTE 7

133.

134.

A) 100 prrisef B} 120 prigef
C) 125 prlser D) 150 prisei .
What is the time limit for the registration"of societies ?

A) 100 days : B)\/l 20 days

C) 125 days , D) 150 days.

QamL_de Geustmesarenn gal (Dey shGHSEm&HaTa Bl 2 sal mlmaﬂ gl 2
A) QruGar eundl B) wawiLe Symw amdlgst
C)  wreulL wsdlu sl Hney e D) euedis eundlaer.

Which is the financing bank for PACS ?
A) Repco Bank
B) Regional Rural Bank

C\]/‘ District Central Cooperative Bank
D)  Commercial Bank.

Sl (Hmey g;eaimuq&smen Biteursib Geusudlé a’fgpéaaacobn_mrj)@jsﬁ ahe ml_(Hoey FLLID

| SeTReESH S Lkmssd HLALUOGTIHDG

A) wrgifl eal’ ey shichsmetledr gl b 1991

B)  sbpur@ en@pey shsbsahdr el b 1983

C} .LDﬁ‘UTTGi’U gol (Dmey ehshsaler s L0 1932

D)  sblpHrE &’ Oney shsbseilar #L_D 1961.

Which one of the following Acts restricts the role of Government in the
management of cooperatives ?

A) / Model Cooperative Societies Act, 1991

B) Tamil Nadu Cooperative Societies Acl., 1983

C) Madras Coopera'tive Societies Act, 1932

D)  Tamil Nadu Cooperative Societies Act, 1961.
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135. e @bdlurallpemes &EET e TSI UpsHHens er(dlweum wri 2
A) QiR &iTgedT k B)  &f elsuf(® eur
Cl  dp. QuiCeardey D) &t JQp_N& Bésdgdr.

-,

Who was the author of the book ‘People’s Bank for Northern India’ ?

A) Lord _Curzon | B)  Sir Edward Law
' CMMr. Dupernex ' D) Sir Frederick Nicholson
136. Qyrée g@ asdiug asbhE TOSHSHTH 7 |
A)  Gurg g | B) @EDULI g®
Cl pLagsans SHlenwmg .Dj Geuplés gagiicranen.

Cash book is an example of

A) genéral jourﬁal B]‘/:special journal
C) nol ajournal D] none of these.
137. &riyfleon SE0IHE .. &GT01 (@ .
A QuupeTey SamEHG B)  gyefemt &:Gwré;@
C)  Oergpgsd s D} @evou semarsab.
< Patent right account is
i A)  nominal account B) personal account
C) ‘/;eal account D) all of thése.

[ 605 |
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138. QumueussTy LD emey; BHUsuE sufey el aeabd GHLCLEGL udley alldlpemp
TR HE SetHGL e BT TLEmL W ?
A) Qerggs sansg B) GQuuiyene| saxiég
C) getenihs sanss KD] @leubmiet ergiapdldoeneu.
The journalising rule 'Debit the receiver credit the giver' relates 16
A) Real account B) Norr;inal account

C) / Personal account D) None of these,
139, Qurpeaisemer L allpusner GelybGury abhs GavTdersl UDN OuUsHS
Geuetor@d 2
A)  sLameniser GLUBTLH eflaal Ll samég
B) Ourgl CuCm @ sfléal L daer saoié
C)  sLaCari CuGH @ sfles L disa saribg
D}  @eubmsei o gadlevensy.
When goods are sold on credit which account is debited ?
A} Debtors ledger adjustment account
B)  General ledger adjustment account
C)  Creditor ledger adjustment account
D) None of these. .
140. uiguéd I wigue o L Qurepsd, d8p Car@ssiu’ Herer ePSGamens
Qaresor® sflurer alloL awus Caibsd :

usgue I ' uCiguér X

a) Qmd srsdmiy 1.  eSwrumy s
b) Garue Cauamyu Qeaailerisar 2. Qudlhlenens o015
¢ wpyeybdn GurmeTser 3. o pusdlurernt sasG
d  ugepenn Geeallenbiaer 4. @EruUBLL HETHS.
| GPlipsar :
. a b c d
A) 1 3 2 4
B) 2 4 1 3
) 3 1 2 4
D) 4 1 3.
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Match List I correctly with List II and select your answer using the codes given

below :
List1 | List II
a) Closing slock | 1. Trading account
b) Oulstanding expenditure 2. Balance sheet
¢) Finished goods 3. Manufacturing account
d} Pfocessing expenses 4. Profit and loss account.
Codes :

a b c d

A) 1 3 2 4

BJ‘/Q 4 1 3

C) 3 1 2 4
D) 4 2 1 3.

&Gy Qar@asiu Gerereupdles Gmha allbueer Cleaea aeicuena) aaILODE SmDl.

alpuemest e, 8,200, QgrLés @oLy . 1,300, @ndl Gwuy . 900,

Qamerpsd 5. 6,400, 26t gHné Geeey m 200,

A) . 6,200 B) e. 7,000

C) . 6,800 D) @mg)g;eﬂ & g1y blévemnao.
Given the following figures :

Sales Rs. 8,200, Opening stock Rs. 1,300, Closing Stock Rs. 900,

Purchase Rs. 6,400, Carriage inward Rs. 200. The cost of goods sald is
A)  Rs. 6,200 ' B]‘/Rs. 7,000

C) Rs. 6,800 : D) None of these.
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142.

143.

144.

gl DDy Ha1HE LHaluc WPam HEILAPpenéE albs UBLD
A) 1901 B} 1904

C) 1912 D) 1947
Cooperali\;e account keeping system came into effect in the year
A) 1901 B} 1904

gy 1912 D) 1947.

HL LI (gpmg,mlin eTetTLISY

A)  pLOy Gurpiysener oflL ptiy Qergsiset dleb

B) wpsed® Qeiust Qsig ppegehd

C) Gurgs Qenrggbse - iy Qersgsaer

D) afissiulL e@uy (g)eug,asr\ﬂn.

Working caﬁital means

Ah"the excess of the current assets over the curr.ent liabilities
B)  the amount of capital invested by the proprietor

Q) the total of fixed assels ~ current assets

D}  the capital less drawings.

Hemenser gpssiuBeug dshars ?

A) Hobs alfleurar Coameuseir

B) gdsb sburdlughars

C) Geaueedéeer) Srismaaus Sriushars

D)  aflgily Gelaghers.

Branches are opened to

A]/ extend better services B) earn more

C) solve unemployment D) evade taxes.
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145, aﬁlll.urrurrl;r BLoUy Sendaaer udle Qelsare oeleurmy D PEHATD 7.

A)  udle Qelse B)  BLougHenswll LT EISTSS60

C) g olaH G e D)  soeue auphi@s.

The recording of business transaction is called

A]\/ book-keeping B) safeguarding the interests

C) dectsion making | D)  providing data and information.
146. Epssaor_cubnea aaea elbLme SUUbSSSIET @)TUIDLTS Fnl) 660 ?

A) @Ueﬁc'r@ U &6 @\ mesn BoussorRib

B) gsmeug Qur@merser @ umés Ceuaor(Hb

C) Gurpefler 2 flaw wrpmiin. GeusorHio

D) s&pheos Geweul. Ceusm@b.

Which one of the followihg is not the essential element of a contract of sale ?

A)  Therc must be two parties

B)  There must be some goods

C)  The ownership of goods must be transferred

D) \/l“he market should function.
147. EpsacuLcupnel ag srasmne Gurer QUG seaner sl Ggsdlar 2 Mfao

SLETE ?

A)  ubmyflesio

B) &lpusherear o flew

C)  @uusSeh Quueushsrer 2 femo

D) Qeugwrerd QuD apsGs QeTR&EED 2 Mew.

Which one of the following is not the right of finder of goods ?

A) Right of lien B) Right of sale

CVRight to claim damage . D)  Right to sue for reward.
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148. @Dug‘r;g,gmg; wrrgré HlevpGeupp Gueorg 2

149.

150.

A)  eundendl euphiguet : B)  wseut

< gL LT Elwireor ﬁlqﬁ@ﬁ D) Oaflurg puf. -

Who cannot perform the coniract ?

A)  The promisor B) The agent

C)_ The legal representative | W] The unknown person.

A aaiucult gerg el HIousGh Qubdlrdos B adip e Qwsaralsdlib
u@g urré&@hb Gurmpl (@ Sefldsrt. @& ‘A’ bppid ‘B Qe Cuuren @ v

ERULIHSHLOMGUD.
A) gpuILenL 1L B) ouwe
C) o sdgeursd D) @s&e.

A gave his washing machine to B, a mechanic, for repair. This is a contract of
J()/ Bailment | B) Pledge

C)  Guarantee D) Agency.

Fpsaeo ahs cubllles peaw GuUBSD gHUGSS @mewrg] ?

A) QleuefliLIeL_WTe 2 L eTLg &Hend

B) e dlenwren 2 L TG 6608

Q) . WesrGeomipyy

D) oLos.

fn which one of the follomﬂg ways a contract of agency cannot be created ?
A) Express agreement ‘B) Implied agreement

C) Ratification BT~ Pledge.
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A arestueurt ‘B eredtn eowesihig jeuflest @rrgpe‘asm&,é,@g', Caemauuret gglumeaudlud’
Qurmlamer oefldent. Ghg A grar Gleils Ceweeu 'B Wldr Gersdlelmha
Hpou Qup sy weurreur . )& D& 6woL euhnéE 2 S eooror@Gb. '

A) 2 L. &1L &6 8 B) uedluereurer 2 L &L &ans

C) o e wren ULHSD D)  Geasfduen wrer uuBSD.

A supplies B a minor with all the necessaries suitable to his condition of life.
Here A is entitled to be reimbursed by B's estate for the expenses incurred by
him. This is an exémple for |

A)  agreement VB’)/ quast contract

C) implied contract D}  express contract.
FpbearLaubniel g uFdly 2 L d@ugsomsdlar wpab uUUbSSms allGly
CleLIGSHHETET 2 SHTT00TD {060 ?

Al uflorpmo B) difisgse

C) seiEbLg D) @Durj,g,uqamﬂ.

Which one of the following is not the mode of discharge of contract by mutual
agreement ?

A) Novation B) Alteration

C) Remission ..Pn/ Tender.

MR QUUBSD eraTUgl &(D&&EM..UDDIGHTET (i 2 sTyeRiD.

A) U eneusH@GD GUUBSD B). g eveon s LLsﬁruQém&)&,eﬁ

Cl @uoie euubsh D} 2 gdlyamgh gliupsib.

Contract of insurance is an example for

A) wagering contracts B) . void agreements

ﬁ)/ contract of indemnity D)  contract of guarantee.

f@ﬂ I [ Turn over
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154. wpLwellaT suansaen wWrane ?

1565.

156.

A)  eLbs erab, Hepsren wHnb afliaren wnwes
B) Qleweu@ssiiu Ceuetongw whHmb o liamey wmyLiwies
C) OlrwueuSStLL L DHOID SL_hS &6 DIMILIWEST

D)  qpopemowmest wbmib §111 LLT6UDT 60T LDMLILIEET.

What are the kinds of consideration ?
\K]/ . ‘ Past, present and future consideration
B)  Executing and future cunsld(;ration
C) Executed and past consideration
D) Complete and lawful consideration.
peoarab ghyb 2 GHeTHGoS
Al 2 Leug e B) ean&snd
C)  puwes D} @Eeee.

Offer and acceptance constitute

.}()/ Agreement B) Promise

C) Consideration D)  Consent.

goff pHLeug Healldl 2 e Hlaeau HW 2 oD Y eICRTBGHeT ...... e &7 60F
Gy GeuriD.

A asdleos gaxlsoms B) savl&oms sl

Cl @eoLssre yhsome : D) @mf‘b@jeﬁ ergieyblevemen.

The documents which aid in tracing a transaction are known as
vf]( “Audit trait B)  Audit report

C) Interim report . D) None of these.

el
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157. @@ sbOuaiidle uhgsoma QauelllGbCury saflsamauren Qerhu. Gaaomqu

158

159.

SPl&ema

A} enuplL saoé@ SPsoms OFTLIhs 5 SLanHeefug

B Qurgs alpusmen gisae

C) abousidear waaraw Carbalsseutser

D) @eubpst ergieuildamen.

At the time of issue of shares an auditor has to

o) i report on P & L_A/c of the company for the last 5 consecutive years
B)  report on turnover

C)  report about promoters

D) none of these.

. Gal® UbG Pneersdd by Qummiy

A)  cuenyuDSSIILL G\urrgjl.'.nq

B) auequpssiulrg Glummly

C) 2 saraursdhdlen Gune amyumshsing L

D) @mrj)rgjﬂ? ergeydlevenco.

In a joint stock company the liability of the shareholder is

W~ Limited liability B)  Unlimited lability
C}  Limited by gurantee .D)  None of these.

76 @g,ab 90 sgaly sLT G Spet shsnusEpdE esuaea wWHIUGILEDT
auphsiLRHDE ?

A 10 : _ Bl 6
C) 3 D) @eubnsr agabdeame.

What mark is allotted in the audit process for recovery performance of

. 76 to 90% 7

o w6

.C) 3 D) None of theée.

| | ' | Turn over
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160. »5& Cengaen dipaypeusreudiier wryrer GuhHereeniu@dleng »

161.

A)

. B)

Q)

D)

S| FTRE ST 6o

283 shssdle Casme Calyd wHEDFEH HUF

Gl [HDeY &ewolld e HWT e

Qlurg Gueren.

Internal check is made by

A)

Government

vB{ Employee of the same society

C)

D)

Auditor of the cooperatives

General manager.

ulqué Isy ulguée II LLG&TlQUWQbﬁ;ﬂ, ECp Lar@esuu@erer GHlUGsemers

Qarean( sflure afloLaws Carbsd

uCigwes I
salipui gallseans
&L’.L_gr'reu 56007 Han
Qo seflaame

Qe sare saulsHens

a)
b)
c)
d)
sPSGas :
a
A 2
B) 3
C). 1
D} .4

b c d
4 1 3
1 4 2
3 2 4
2 1 3

| 605 |
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Match List I correctly with List II and select your answer using the codes given

below :
a)
b)
c)
d)
Codés :
a
VI
B) 3
ct 1
D} 4

162. @ swegdlar Gersame Uggab

List I
Private audit
Statutory audit
Annual audit

Interim audit

b c
4 1 3
| 4
3 2
2 1

Al o ponfet udHGeu®

O deyeweu udiBas

Admission book is a

‘/ register of members

C)  list of overdue

................

[ 605 ]

List II

Govt. organisation

2. Private organisation
3. Corhpanies
4-. Cooperative organisation.
2AGH0
B) sLareflsst uFGCa{
| b] @Gﬁrj)@jsfr ergm&éosmea.
.............................. ceveereness. Of the rsociety.
B) register of borrowers
Dj none of these,

[ Turn over
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163.

164.

165.

sups DT e ereTLg

A) savbgsear seudladl arupsiLl QeTeTHT aRTUMSE ST g
B) Qnrés Gelieous sevorLflu

C)  seunser whnid Nempaemen yblu

D) @eubmet ergieybldiemey.

Routine checking means

\K( ascertain the arithmetical'accuracy

B)  verify cash balance

C) find out errors and frauds

D) none of these.

snetPlene) Qupusbe safldesurert LWHTLRSED WepWlleer asueumm

e p&dlatGmmib 7

A) s gaviibans aped B} 2 gdlsen cpevid

C) saNemss A LG aab D) sraérpmiey aped.
Methods that are adopted by an auditor to obtain evidence are called
A) Internal a;,‘ldlting ﬁ)/ Techniques of auditing
C] Audit prograrﬁme D) Vouching.

pLeGHGHmeT GOLLIGs®, d0sCawWed whHpn @iy &LBseme @)eeurn

2joip&ElGpid.
A} savéE udallud B) ‘ geofl&ena (g
C) ysse uymofiiy _ D) &5 Canrgpener.

The process of entering, posting and balancing is known as
A)  Accounting B}  Auditing

C.)/ Book-keeping D}  Internal checking.
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q@u@_&,g,ﬂuf_g. &TUY B oo Y

A)  Qumrgiy B} OQesrsg

C) Ourply ohmpd Q&Tss D) @eubmel Grgjs'qLE]s'usma.),

Reserve fund created is a |

A)s/liability E - B) asset

C)  both asset and liability D) none of these.

DEDM(LPS ggé&.sﬁlms\) mngun@'aﬁ’g@&&;n@]m wenAs CeweysEhse e Guwrer

.......................... afgFwmawrGh.
A)  BlasiulL Geeagieh 2 anown Qeaad@h 2 e alddlursid
B)  agflisomalliu L Qeaadeh 2 adnomn Ceanadeb 2 ster alldSursbd

C) eMsdsliLiu L Qeanded 57 Cemaph@n 2 aer afldEHursd
D} @eubner ergiapbldemen.

Overhead cost variance is the difference between

A recovered overheads and actuai overheads

B)  budgeied overheads and actual overheads

C)  budgeted ovérheads and standard overheads

D) none of these.

W arsHdH surflaaiu L B sphsaos )
A Qyrés f8) siflswe B)  @UeQurss Nl sifswms
0O & sryasera D efiéaos D) wasdraw Hid cgqrﬂéasm&:.._\
The budget prepared first is

A) cash budget ‘ B) master budget

C]\-/budget for the key factor ' D) first budget.

[ Turn over
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169. 951y exsdlmly wopula QuTmsT aphisame wEIY CElusagw Hlneue ksl

170.

Sp&aTamIbd Wepaefles agame] uwdTURHSTD ?
A)  LIFO @eon B)  FIFO wep
Q)  (A) odeg (B) D) (A) yb Géveom (B) yb Gévenen.

A firm using base stock method of pricing materials issue may adopt

.................... method
A) LIFQ method B) FIFO method
cr” Either (4) or (B) D)  Neither (A) nor (B).

2_pusdllids rOuL_Heren @@mm@&aﬂ@ gmnrﬂé&ﬂu@m Bnids sHemm&iEGae

A)  ellwrury, Geru BLL &a@oiéE HRb @ely Haews: Gy

Bl 2 pusdl, elwrury whpb Qerupl L HeouS @S

C) 2 pupd), ellurury Geru BLL Semée Db G)moy @méé& @ﬂﬂq

D) 2. pusd] seuéeE WLHD.

The final acé:oﬁnts of a manufacturing concern are

A)  Trading, Prpﬁt & Loss Account and E-Salance Sheet '
BL/Manufacturing, Trading and Profit & Loss account

Q) Manufactl;nné. Trading, Profit and Loss account and the Balance sheet

D}  Manufacturing account only.

.65 ]
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71 PGCP
'MAS' erébtugy)

A) ‘(Sma)rrstfmemm HEVTHE (PO

B) (Bmsurr‘mbrsmm NS s (Lpeom

C) sandH Gl udlalue CioouTatTens

D) @eubmet ageybldene.

'MAS' stands for

A}/Management Accounting System
B) Management Audit System

C) Management of Accounting System
D) None of these.

afldlgnéary gualle LwsTLPiab OGumpa ‘Geuddloe @erud” edug
SpeupsusTeuniles aTsements: @NGSlSTng ? '

A)  Qurgs elpueer - aflpusser Gelwiul L Gurpeflest S &nalane
B) @E,q allpuemen - alpusmer Glelwiul L Qurwaladr oL ssallare
C) ey whrd eufleel ShHu Blar Gemuib

D)  auly whHoib afeg whdu Blay Gleorud.

For the purpose of ratio analysis, the term 'operating profit' means

A) gross‘sales minus cost of goods sold

B}  net sales minus cost of goods sold

C) net profit after interest .& taxes

D)\,/net profit before interest & taxes.

@E_J { Turn over
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173.

174.

#1ge alless adug aassd GN&SdEng 7

A) 57 oL ssaleredu il 2 GoawLLTET L Ssalme GDelTs @@L‘JUQ
B) @earusdle 2 wiey ghuBb

C) Qaeey sl QUUBSacude Hineuargder Spar GeuefliuHin

D) G SEaTHEDd.

Favourable variances mean

A)  the actual cost incurred is less than the standard cost

B) there is an increase in profit

- C} the organisation is cost efficient

DL all of these.
&8y Qar@sstu Berer aflughselSiGha Curgs Eerub ey T
B HEI_eyb. o
2Ty axsflmiy (5. 50,000
gy Qa:rrsﬁ@@s‘ur €1h. 2,28,000
Crrg & Qeaase 5. 6,200
@i eyl €. 3,200
Bleg edbueane ep. 3,68,000
A) . 1,40,000 " B} . . 60.000
C) . 28.000 D) . 1.72.000.
Given the following data :
- Opening stock Rs. 50,000
Net purchases Rs. 2,28,000
Difect exXpenses Rs. 6.200
| Closing stock " Rs, 3,200
Net sales . Rs. 3,68,000
The grass profit will be | '
Al Rs. 1,40,000 . B/ Rs. 60,000
C) Rs. 28,000 D) Rs. 1,72,000.
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175. @@Qlﬂms\) L bealon sansdlue Spaipaaabble adld LuduBauddae ?

176.

177.

A}  @eru LB

B) Osuwéd seralaen wpige Qeleudd

C) Qubdlrisaiar S dao_sre waedh Qamuiurer (pyey Clalgediea
D) @éurrurb &réhangu Gurmer sasmeuamud Cgiey @glhmﬂsh.'
Marginal costing is not usefgl in -

A) Profit planning

B)  Dectding the level of activity

C) \/Deciding the loﬁg-term investment on machineries

D)  Selection of a profitable product mix.

OPETH sl Qoo shsé slLuselle seITopns STHs oaupsd absl Siflalld
2_efrenLiidhlug) 7

A)  Ufley - 80 : Bj Siftey - 87

C) Sl - 90 D) iy - 92.

Which Section of Tamil Nadu Co-operative Societies Act deals with settlement of

, disputes ?
A) Section - 80 B) Section - 87
Ch"Section - 90 D)  Section - 92.
gt Hneyd gcmﬁésm&&, FODUIES BEOWLL| (PEID . ovrrrrcrirrrrnsires 24 G0,
A Queau( 208G ‘ B) w2066
0) prae 206 D) ebe 24066
The étructure of department of co-operative audit is
A)  2ter | B3 tier
C} 4 tier | D) 5 tier.
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178. sxl Oy Hewleans eed1Lig)
A LY geotll&ans
B] Q& SLHLUTLE g,amﬂé,m&,_
C) EFL'_I.._IE_J,,F'I'G)_I'LDE;DQJL}) ST SLHUUTLE BemlHens
D) @euppsi argeyféene.
Cooperative audit is a
A) Statutory audit only | B}. State coﬁtrolled audit

CL/ Statulory and stlate controlled D) VNon-statutory audit.
179. Uipsw s’ Goey shiGhEmaT u@cﬁ@&tﬁmé’ Faquet Wi 7
A) e udleurent . B) gemeoor udleumentt
C) @ udleurenit D) @euissfley ereugpLblevi.
Who registers Primary Agricultural Credit Societies ?
A)  Co-operative Sub Registrar B) \/Deputy Registrar
C)  Joint Regisirar D) None of them.
180. &psadvicupniet sOPHT 46 s Qpey uHleurareny Huwend GElaughe 2 6w mer
s&d a5l 7 . _
A)  @bghu eueriiiesi]
B) @pdu oy Ao uesl .
C)  spen ueiifler Lefyflub o Sieweuert
D) @eubmet sraiabioee '
What is the qualification for appointment to the post of Registrar of
Co-operatives in Tamil Nadu ? -
A)  LFS. ‘ B) LAS.

C]/ Any officer of the Government D} None of these,
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181. ® aggumm&?&, glemp eTe&TUS)
A) @@rﬁ:@mméag,éu B) &{@mg@@
Cl s lOuuGSsIBe | D) @mgb@efr o1 gyl éveneu.
Departmentation is a process of
A) ~/Co-ordination B} Organisation

C) Controlling D} None of these.

182. ami@goal Bipyerie0T Gl et last é’gpm@meﬁrmélﬂ@ FTEDEL (APEVSEOTD STETD) SEUPSHHAMID ?
A)  URG apeseTd B]  evauiyssr whnbd s HHss -
C)  sriy B D) @ea oeandgb.
Which of the following shows the capi'tal‘struc’ture of co-operatives ?
A)  Share capital - B)  Deposits and borrowings

C) Reserve fund ‘ D)/All of these.
183. enl @mey Hipeueitiseiies @q.@cu@éu@fo 2w yflamgb QDD Sembly ergl ?
A) rj‘;]r‘r;urr&,é, ) B) Qurg Gugmleu
C) geoeveurt D) @eupmsr ergieybdlévene.
In co-operatives which is the highest decision making body ?
A} Board | _ B}‘/General body

C}  President | D} None of these.

[@5—| : [ Turn over
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184. e Plneusisdies Lewfluoiggipen eratug erdien J_ssmaoas Qarei g 7

185.

186.

A)  ueflurert Ggrey wppd LIOHE oefs s

B} L_Jmsﬂwrrm@éﬁ@ﬁ ugell 2 wiey, smHiae 2erduib

C}  ueflurerflen uasflensu wHTHs

D) @mm DTS GID .

Staffing function includes

A) selecting & training of employees ’
B) promotion &‘ increment of em'ployees_

C) perfoﬁnance appraisal and adequate remuneration of employees
D/ all of these.

................ .o ETEETLG UGBLQUT BT UTHETUY Seontieou o wiss urgariy eNsalng.
A QsTerslumwsH® | B) wopseiilrasd

Cl] iUl s D) Eeubmst agebldaen.
........................ provides a defence to enhance Physical Security System.
A)  Gridding B\ Encryption

C}  Encode D)  None of these.
QuTgILsHEHHE Detaigr apabd ojyfldr Gaamcumer LHMIL BHeuhsHen yeflliug
A)  Ble-Gaeur | B} flerhieursn

C) Ber-ufleuiggeanet D) @eubmpet araablien.
Delivery of Govt. services and information to public using electronic means
A) eseva | B)/elgovemance

C) -e-transaction D) none of these.
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187. Geronalld soupssa ahdlfsdle slLma @b Gy @amariu

188.

189.

UwsSTURSGleug eTebTUS)
A} LAN B) Telnet
C) ARPANET | D @auppst agabdme.

A command that connects the user to a remote machine located anywhere on the
internet is called ‘

A) LAN B]‘/Telnet

C) ARPANET D)  None of these.

B LWeTUTL R Sjewinledr LGUUTLEY BHIID QUG eSO STETUE .oorvrerrrerereaees &t
SL MWLM GLD.

A)  Glewe qpemwmren : B)  Sevnly u@lumbeumert

C)  saluGUry) @uéast - D)  syey oaref( @mé&r‘r.

The analysis and design of an application system are thg responsibiltﬁ ofa
A)  programmer B) \/s.ystem analyst

C) computer operator D) data entry operator.
sr&dkply adrug aeamssd GHSHDG ?

Al @iy B) GQurmlssh

C)  sEal | D) @eubgei ergiabldensy.
Inventory is also referred to as

A) ‘/Stock . B) Material

C) Tools ; D) None of these.

réaé "J - [ Turn over
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190. Qb GG GTEBILG <.oorrerenn. -glesondl erctorefiGeamsenud Glarasofetens.
A]. 6 B) 8
C) 10 : D) 12.
One byte includes ................. number c-)f bits.
A) 6 B}/S
Q) 10 D) 12.
191. Spsacon_euphic erg sflawmer Galliy Qﬁneﬁerreﬂsq 2 L Wgl 7

192.

A) TBs B) KBs
C) MBs . D) GBs.
Which of the following has more memory capacity ?
A)‘/TBS | | B) KBs
C)- MBs | D) GBs.

allemsliLeene GreTUS)

A) | T a_é'mﬂ'_(aé grrg,anfn B} @ Oweflll (& srgembd
C)  Geudlls srsamd D) Querurmst.
Keyboard is

A)./ an input device B)  an output device

C] an external device D]  a software.
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193. @ Spoul L MIS—&&&&W S LiueoL § CoHancuser.
Al sedlurer LexNument
B) Oumrseurer gssmeud ysvdleuryin
C)  euwinle picurssdler spdaempiy
D) @eoeu Sjenanpgid.

- The pre-requisite for an effective MIS is

A)  Qualified staff B} Common database

C)  Support of the top management D]‘/All of these.
194. MIS asrug &pésa_supani Qeramgarers).

A) | acoianilbens siryaonaen Wi [Hib

B)  syb @Nss sryediser wl b

C) canasms nhnb b sryaiemens Qe g

D} @eubnel agieubidene.

MIS takes into account of

A} only quantative factors

B) only qualitative factors

¢)~"both (4) and (B)

D)  none of these.
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195.

196,

SEIPHTEH el @pey shshsd slib 1983, adarQeaeren Sfasefllar &
Gl QDS EHEHG HYETRs D Lgaﬂ&,efr apliGeuemss CeTddlang 7

A} Meyser 70, 75 B)  Ofeyset 68, 78
C}  Ofleymen 52. 65 D) @eubmer ageydeame.

What are the sectons of the Tamil Nadu Co-operative Societies Act of 1983 which

deals with state aid to co-operatives ?
A)  Sections 70, 75 B) Sections 68, 78
C)\/ Sections 52, 65 D}  None of these.

BGYp QaTRs&sLUL Retetaubmiei a8 &l QDOGERSHEG STTTeT FLLD (Bcuc&m@fn
TENLIGENET euIYMISHFIMS! 7 -

A}l sfle Ghdu dymby 51_661: SETEE S

B) & eTL_eui (@ Gmém&n@ )

C)  Qeargdhfl Sigip Ayerey @

D) sl (Boey #lL6 &P

Which of the lollowing emphgsised liberal law for co-operative ?
A)  All India Rural Credit Survey Committee '

B) Sir Edward MacLagan Committee

C) ‘/Choudhary Brahma Prakash Committee

D) Committee on Co-operative Law,
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alpusmer allemea . 50
DTHUED &6 alleme 5. 40
Hlemenures Oa cuey | . 5.000 eaafd,

P/V alldigb whpib BEP sp ereitasours @imé&@ih
A} - 10% b 500 syeu@aar B) 20% wpmib 500 yeugsel
C)  25% whmd 250 je@Gse D) @eubmer argebldme.

Given the following data :

Selling price Rs. 50
‘Variabie cost Rs. 40
Fixed cost Rs. 5,000

The P/V ratio and BEP will be
A) 10% and 500 units . B) 20% and 500 units
C) 25% and 250 units D) none of these.

wéhigBeuayest rLspée (Equation model) Qeueffles grurefldainGh simyemataamen

ceerneeers GV GOONGET ETEOTEUTLD,
A)  eaGurgeren B) ea&Gaurgheran
C) &lEUUESSHILLL &ryessel D) @eubner ageybldene.

The variables that are determined outside the equation modél{e called as

................................ variable. ‘ \

A) Endogenous B]\/]::‘,xogenous

C) Controlled D) None of these.

[ 605 ] [ Turn over
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- 199. &8y QerPssvu@eTeramuseiles whpercuseiss G bba mrf@;uLLL QeI TG 7
Aj Lcﬁmmmﬁmm QULPRIG B) S{EOLWITEMDTETT EULDhISHE
C) yssemiure sﬁbplél&cb D)  cpedTpTeug HUT eupRis6.
Which among the following is different from others ? '
A) Ac_tu.al delivery | | B)  Symbolic delivery
| C}  Constructive delivery | D}/Third party delivery.

200. syég albuamens sLL Db alGUTApS @Dt L g ?
A) 1830 B) 1930
C) 1935 | D) 1835

When was the Sale of Goods Act enacted ?

e

A) 1830 B B)Y 1930

C) 1935 ' D)  1835.
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